04/02/2021
Convert improper fractions in to mixed numbers.

Please watch the PowerPoint explaining how to be successful. We will be going through this in the Teams session at 10.10.

As usual, please choose section a, b, or c. When you can answer 5 or 6 questions confidently and you’ve checked them and they are correct then have a go at the challenge questions.
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Answers
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Write the next five pairs
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Use your number lines
to write these improper
fractions as mixed numbers.
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Use your number lines to
write these mixed numbers
as improper fractions.
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Change to improper
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Write as both mixed numbers
and improper fractions.
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Change to mixed
numbers.
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Amir says,
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because 28 is less than
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28 .
3 is less than

Do you agree?
Explain why.
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Spot the mistake

. Z_5l
5 5

. Y_g
3

. T_5Z
4 1
27 7

. 27 _9oL
10 10

What mistakes have been made?

Can you find the correct answers?
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